
Page 1 REV_1.0  05/01/2024

Component List: Installation Instructions:

855-264-8997 CUSTOMER SUPPORT 
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR VISIT, REALTRUCK.COM/CONTACT-US/

IAT-93090  1997-2003 Ford F150

1. Truck Mount Bracket A .......................................... (2)
2. Truck Mount Bracket B .......................................... (4)
3. Truck Mount Bracket C .......................................... (2)
4. Board Mount Bracket ............................................. (8)
5. Carriage Bolt M10 x 25mm ..................................(16)
6. Serrated Flange Nut M10 .....................................(16)
7. Spring Clip Nut M8 ................................................. (8)
8. Flange Bolt M8 .....................................................(16)
9. Serrated Flange Nut M8 ......................................... (8)
10. Hex Bolt 5/16”-18 ................................................(16)
11. Serrated Flange Nut 5/16”-18 .............................(16)

5. 6.
10.

11.

Driver Side

Passenger Side

1. 2.

7.

STEP 1:
Find the pre-exsisting holes equally spaced on the 
pinch weld. The lower tab of the truck brackets mount 
to the pinch weld. The upper tab mounts to the rocker 
panel. If your model has a larger open hole in rocker 
panel this will require spring clip nut M8 (7).

STEP 2:
Other mounting areas will have threaded studs that will 
require flange bolt M8 (8) to attach. Other areas will 
have threaded holes that will require the flange bolt (8). 
Clean threads of the stud and threaded holes to assure 
the new hardware will attach freely. 

877-204-7002 CUSTOMER SUPPORT
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR EMAIL, SERVICE@AUTOCUSTOMS.COM

STEP 5: 
Place running board/
Step onto the top of the 
brackets and attach as 
directed.

STEP 4:
This picture shows how 
the middle bracket 
mounts.

STEP 3: 
Place bracket over studs, 
place washer and thread 

serrated flange nut to 
each stud. Hand tighten 

at this time. 

Note: the front and rear 
bracket mount like  

picture shown here.

STEP 2: 
First use a wire brush to 

clean threads. If nuts still 
struggle to thread on 

use a die (8mm-1.25) to 
clean the threads. After 

cleaning the provided 
nuts should thread easily.

STEP 1: 
Before installing the 

brackets you need to  
assure the OE stud 

threads are clean and free 
from debris and paint.  

Try threading the supplied 
nuts to the studs.  

If there is hesitation  
do not force on.

STEP 6 (Drivers Side): 
Avoid using power or 
air tools. Tighten to 20ft 
lbs torque to secure the 
board to the truck.

IAT-82082, 83 & 84

BRACKET KIT
19-CURRENT DODGE RAM CREW CAB

Driver Side

(A)

(C)

(A)

(C)

(B)

(D)

HHaarrddwwaarree: 
Bracket (A) Pass. front & rear bracket ......................................2 
Bracket (B) Pass. middle bracket ................................................1 
Bracket (C) Drivers front & rear bracket .................................2 
Bracket (D) Drivers middle bracket ...........................................1 
Zinc 8mm Serrated Flange Nut...............................................12
Zinc 8mm Washers - 24mm OD ................................................12

Passenger Side

Front

Rear

RRuunnnniinngg  BBooaarrdd  HHaarrddwwaarree::
M8-1.25 Zinc Serrated Flange Nut............................................12
M8 x 24mm Zinc Flat Washer....................................................12

877-204-7002 CUSTOMER SUPPORT
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR EMAIL, SERVICE@AUTOCUSTOMS.COM

STEP 5: 
Place running board/
Step onto the top of the 
brackets and attach as 
directed.

STEP 4:
This picture shows how 
the middle bracket 
mounts.

STEP 3: 
Place bracket over studs, 
place washer and thread 

serrated flange nut to 
each stud. Hand tighten 

at this time. 

Note: the front and rear 
bracket mount like  

picture shown here.

STEP 2: 
First use a wire brush to 

clean threads. If nuts still 
struggle to thread on 

use a die (8mm-1.25) to 
clean the threads. After 

cleaning the provided 
nuts should thread easily.

STEP 1: 
Before installing the 

brackets you need to  
assure the OE stud 

threads are clean and free 
from debris and paint.  

Try threading the supplied 
nuts to the studs.  

If there is hesitation  
do not force on.

STEP 6 (Drivers Side): 
Avoid using power or 
air tools. Tighten to 20ft 
lbs torque to secure the 
board to the truck.

IAT-82082, 83 & 84

BRACKET KIT
19-CURRENT DODGE RAM CREW CAB

Driver Side

(A)

(C)

(A)

(C)

(B)

(D)

HHaarrddwwaarree: 
Bracket (A) Pass. front & rear bracket ......................................2 
Bracket (B) Pass. middle bracket ................................................1 
Bracket (C) Drivers front & rear bracket .................................2 
Bracket (D) Drivers middle bracket ...........................................1 
Zinc 8mm Serrated Flange Nut...............................................12
Zinc 8mm Washers - 24mm OD ................................................12

Passenger Side

Front

Rear

RRuunnnniinngg  BBooaarrdd  HHaarrddwwaarree::
M8-1.25 Zinc Serrated Flange Nut............................................12
M8 x 24mm Zinc Flat Washer....................................................12

STEP 3:
Place truck bracket (1) at the front position. Use truck 
bracket (2) in the two middle positions. Use truck bracket 
(3) at the rear position (use image in  
column to the left as referance). Use  
hardware as noted in step 1 & 2.
Note: There is a notch on the back of  
the bracket noting bracket 1-3.

Running Board Instructions 

3090
1997-C Ford Expedition ( Includes EL ) 

1999-2003 F150/F250 LD Std/SuperCab (2004 Heritage) 
2001-2003 F-150 Super Crew ( 2004 Heritage ) 

( No Drilling Required ) 

1997-98 F150/250LD Std/SuperCab (Drilling Required)
               

INSTALLATION PACKAGE
Running Board      2 
Bracket s Front                2 
Brackets Rear ( Super Cab 4 Required ) 6 
Mounting Straps ( Super Cab 6 Required ) 8 
Bolt Pack ( Brackets )                                   1 
Bolt Pack ( Boards )                                        1 

Necessary Tools
Ratchet wrench with ½” socket & Combination wrench 
Safety glasses 

STEP ONE: Determine proper bracket placement (Fig A & B ) 
1) Find the pre-existing holes equally spaced on the pinch weld. 
2) Factory mounting holes changed throughout model years and 

require one of the following.  All 97 & 98 ford F150 have no holes 
and require drilling in Pinch weld & tec screws in rocker panel ( Fig 
A & B )  

3) If large open hole in rocker panel will require 5/16" U-Nuts so 
bracket can be mounted in threaded hole. (Fig A) 

4) If factory 8mm hole in the rocker panel go to step 6. 
5) If small factory hole isn’t threaded you will need to use 5/16” S-tap 

to put threads in the hole. Screw the S-tap into the hole and back 
out, this will thread hole for 5/16 x ¾ bolt. 

6) The pinch weld stiffener plate location switches sides to line up 
upper center slot to U-Nut or threaded holes.  Front stiffener plate 
on angled section uses center slot for pinch weld location.  

7) The front mounting plate and bracket must sit on the angled section 
of the rocker panel all rear brackets mount the same but do not 
have angled section.  ( Fig B & Fig C )                 

8) Drop 5/16” bolt through stiffener plate and pinch weld making sure 
top center slot lines up with factory holes in all ( 8 ) locations, hand 
tighten with flange nut as required on each side of plate. 

9) Using a 5/16" bolt, bolt from the outside in through the plate and 
bracket hand tightening so it can slide up and down. ( Fig D ) 

10) Insert 5/16 bolt through top slot of bracket and slot In stiffener plate 
and into the threaded 5/16” U-Nuts , hand tighten. ( Fig D )  

STEP Two: Mount boards and secure brackets   
1) Slide bolts down underside of board to line up with brackets. You 

will only need one bolt to hold board to bracket.  Use two if slots in 
bracket line up. Then place board on brackets with bolts in slots. 

2) Slide board in or out to desired location.                                    
3) Tighten down flange nuts under running board & all bolts on 

brackets to lock in place. Installation is complete.

Please Note:  You will have bolts/nuts left over.   
There are several vehicle arrangements and we have provided the 
hardware for each configuration. 

      

Angled 
section 
in front 

Fig C

Fig B

Fig D

Different Factory 
Mounting Holes 

1) 8mm factory hole. 

2) Large hole or slot  
    requires 5/16 U-Nuts 

3) Unthreaded Factory  
     hole require 5/16”  
     S-Tap to cut threads 

Bolt Pack Brackets 
8mm x 1.25mm Hex Bolt    8 
5/16” – 18 Long U-Nuts    8 
5/16” x ¾” Hex Bolt    24 
5/16” Flat washer     24 
5/16” Serrated Flange Nut    16 
5/16 – 18 Hex S-Tap Cutter   2 
#14 Tec Screws (Used On 97-98 Models Only) 8

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt    16 
5/16” Serrated Flange Nut    16 

Fig A

3. 4.

8. 9.



Page 2 REV_1.0  05/01/2024

855-264-8997 CUSTOMER SUPPORT 
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR VISIT, REALTRUCK.COM/CONTACT-US/

IAT-93090  1997-2003 Ford F150

STEP 4:
Before installing the board bracket (3), decide the 
preferred height. Here are our suggestions, but you can 
adjust to your preference:
A. For 61 Series, 51 Series, & Gladiator boards.
B. For 41 Series, CVX, & Factory Style boards (all from A).
C. Lower position for any board.

STEP 5:
Use a carriage bolt (5) through the truck bracket (1-3) 
into the board bracket (4) and secure it with a serrated 
flange nut (6). Hand-tighten at this time.

STEP 6:
With one side of the brackets installed, use a flat  
edge (such as a yardstick, level, or the included  
running board) placed on the board bracket tab.  
Align the brackets level to each other and fully  
tighten all hardware.

A.

B.

C.

STEP 7:
To install running boards onto the brackets, obtain the 
board bolt pack included with the board you selected. 
Take the 5/16” X 1” long bolts, and slide the head of the 
bolts down the channels on the underside of the board. 
Use 4 bolts in both channels.

STEP 8:
Place the board on the installed mounting brackets. Align 
the bolts with the slots on the brackets and drop them 
into place. Thread the provided 5/16” flange nuts onto the 
bolts, but do not fully tighten yet. Adjust the board left to 
right and in and out to your desired position. Avoid using 
power or air tools. Finally, tighten all board hardware to 
20ft lbs torque to secure the board to the bracket.


